224EE = 1 3l Yersldy
2 WEASYD

Hu: ABASY A (SS
CHol: FISASY A

2A - ZH () - MRAIY - HAS Ofl &F2H JE A Hlns2
ZEF s 39,127,507 38,040,645 1,086,862
= 1,068,426 862,676 205,750
J| 23,949,464 23,914,464 35,000
== 2,159,353 2,016,524 142,829
Al 11,367,999 10,632,466 735,533
= 582,265 614,515 A32,250
= ASAG (sl =52 - 55) 22,446,643 22,084,408 362,235
= 53,039 51,940 1,099
J| 20,970,823 20,970,823 0
< 245,449 145,206 100,243
Al 1,177,332 884,189 293,143
= 0 32,250 A32,250
HEZd=sg A 22,446,643 22,084,408 362,235
= 53,039 51,940 1,099
J| 20,970,823 20,970,823 0
< 245,449 145,206 100,243
Al 1,177,332 884,189 293,143
= 0 32,250 A32,250
TS sitE Mak 2R3 5,536 6,040 AB04
201 LE23H| 1,620 1,800 A180
01 At22teld| 1,620 1,800 A180
Orlstd=sd 22 RU(0AEZ)
A 450,000 450 500 AB0
Oz = AIHEE S0 ME(HlarE2)
2 270,000 270 300 A30
ORI E=sAE SEHS, JAIG 23 S EETAIF
HIZ(oll A=)
45 900,000 900 1,000 A100
301 EtEdEZ 3,916 4,240 A324
11 EALHIXIRAZ 2,916 3,240 A324
Oz e dED|=1] 9 HES| 2t o] (0larE2t)
2 1,458,0002 1,458 1,620 A162
OzIgtd=saE 3 0=l obl(olarE)
A 1,458,000 1,458 1,620 A162
=g sEAY 499,081 454,000 45,081
307 212t01™ 410,881 365,800 45,081
02 QIRHBAIAHE R 410,881 365,800 45,081
OsHE RIS EHl KJAG (S5, SHE2)
(BExE 33%) 43 256,773,000& 256,773 199,700 57,073
OFISHESAZ MAEE ST KIS (DR ALt
ZA 9,008,000 9,008 21,000 A11,992
()N =L K2 28,098 25,350 2,748
= 11,239 10,140 1,099
< 5,058 4,563 495
Al 11,801 10,647 1,154




2A:
X{XH -
o /e

cH):

SA - BB ORI(E]) - HRAY - B Ofl ko = Hnz2
402 DIZHXHE01H 28,098 25,350 2,748
= 11,239 10,140 1,099
< 5,058 4,563 495
Al 11,801 10,647 1,154
02 CIZFXHEAIH 2 (0| X THE) 28,098 25,350 2,748
ORI=SAM KIRAAS
2 28,008,0002 28,098 25,350 2,748
= 11,239 10, 140 1,099
< 5,058 4,563 495
Al 11,801 10,647 1,154
(SIRPC=EAIE SIS XA 680,000 355,000 325,000
== 204,000 106,500 97,500
Al 476,000 248,500 227,500
402 DIZHXHE01H 680,000 355,000 325,000
== 204,000 106,500 97,500
Al 476,000 248,500 227,500
02 CIZEXI=2 AL B (0| M THS) 680,000 355,000 325,000
ORPCAIE ZHHIXIR AL
ZA 680,000,000 680,000 355,000 325,000
< 204,000 106,500 97,500
Al 476,000 248,500 227,500
(Z)0HstA Mol oraler X 0 54,250 A54,250
== 0 11,000 A11,000
Al 0 11,000 211,000
= 0 32,250 A32,250
301 Let2d= 0 54,250 Ab4,250
< 0 11,000 211,000
Al 0 11,000 211,000
= 0 32,250 232,250
14 J|Et243 0 54,250 Ab4,250
OUj&r Mol or&e X
323 03 0 54,250 Ab4,250
< 0 11,000 211,000
Al 0 11,000 211,000
= 0 32,250 232,250
(Z)LYMPRSASMESX ALY 44,160 0 44,160
< 13,248 0 13,248
Al 30,912 0 30,912
307 212t01™ 44,160 0 44,160
== 13,248 0 13,248
Al 30,912 0 30,912
02 QIRHBAIAHE R 44,160 0 44,160
OURR A SAS R AL
480,000 *115%+80% 44,160 0 44,160




SN FER =D
M HYSY ABAY(SYHLSL/5Y - 5F)
el FEdsg As CEEEN
SA BB SR(E) - HRAY - BES Ofl Aot J| & o HimE2
< 13,248 0 13,248
Al 30,912 0 30,912
AN JBIEE (SEHYTA/ 5 - 5E) 5,691,021 5,310,305 380,716
= 940,387 735,736 204,651
Il 457,000 422,000 35,000
< 572,976 532,046 40,930
Al 3,521,418 3,421,283 100, 135
= 199,240 199,240 0
AlStMA X 5,691,021 5,310,305 380,716
= 940,387 735,736 204,651
Il 457,000 422,000 35,000
= 572,976 532,046 40,930
Al 3,521,418 3,421,283 100, 135
= 199,240 199,240 0
AlStMA 2HRIA 20,511 22,065 A1,554
201 et | 5,400 6,000 2600
01 AtR2elt] 5,400 6,000 2600
O S22 MZ (AR
23 450,000 450 500 A0
QINIEHIE ZEHBAHI(HIAE)
4E 4,950,000& 4,950 5,500 AB50
301 YBEAS 8,586 9,540 1954
11 EALHIXIRAZ 8,586 9,540 A954
OMFAs HMRJ|IENS L &3 &} oYl
(OllarR2) 23 2,916,002 2,916 3,240 A324
OFR=IF HFJIENS L &3 &It oYl
(Ol AR A3 3,240,000 3,240 3,600 A360
OSAHHAIZ IS, EIb OfHI(0AFR)
2& 2,430,000& 2,430 2,700 A270
AlSHMAL SHAMY 418,885 432,700 A13,815
307 QIZHOI A 376,185 390,000 13,815
02 SIHBAANHEE 376,185 390,000 13,815
OD70F BXHPYR, 52) PLNH(SEE 50%)
(TSRO AL
2 46,185,000& 46,185 60,000 13,815
SPEE R8I EE KA 60,000 40,000 20,000
402 QIZERHE0| A 60,000 40,000 20,000
01 CIZFXHE A B2 (KERITHE) 60,000 40,000 20,000
Osgg LOISR)| SEXA(EXS 50%)
A& 20,000,000 *6CH*50% 60,000 40,000 20,000
(2)RIIZHIZ J124014 THo4 XI2IAIY 341,085 0 341,085
= 204,651 0 204,651
< 40,930 0 40,930
Al 95,504 0 95,504
301 YR A 341,085 0 341,085




2A:
X{XH -
o /e

cH):

e ba
0 O fi
0Z 0z 0

O

SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
= 204,651 0 204,651
(o= 40,930 0 40,930
Al 95,504 0 95,504
14 JIEIE2 43 341,085 0 341,085
ORI1EHIE JHHCIAXIHXA
341,085,000 *1A! 341,085 0 341,085
= 204,651 0 204,651
(o= 40,930 0 40,930
Al 95,504 0 95,504
(2)EASE T2 AIHAIY 35,000 0 35,000
J| 35,000 0 35,000
301 et Z 35,000 0 35,000
J| 35,000 0 35,000
14 JIEtE&Z 35,000 0 35,000
OEtASE T2 )2 ABHAIL(ES)
35,000,000 %14l 35,000 0 35,000
J| 35,000 0 35,000
202 I (sildsil/ s - 5&) 7,259,076 7,200,944 58,132
J| 2,434,000 2,434,000 0
== 877,522 875,866 1,656
Al 3,564,529 3,508,053 56,476
= 383,025 383,025 0
=B 25t 6,972,826 6,934,694 38,132
J| 2,434,000 2,434,000 0
< 877,522 875,866 1,656
Al 3,278,279 3,241,803 36,476
ES 383,025 383,025 0
s B WA A5t 4,428 4,920 A492
201 LBt AY| 3,168 3,520 A352
01 At22teld| 3,168 3,520 A352
OFTA DEZAIM SUHSIAIY WS} & S4:0) HIE S
(GlarE)
23 900,000 900 1,000 A100
OZFAt RSAE HER 23 FAE
(Ol AR A3 2,268,000 2,268 2,520 252
301 Let2d= 1,260 1,400 A140
11 #ALAHIXIRAZ 1,260 1,400 A140
OZF AL SHAXIACH 312 &NX =& XA
(OllarE2) A 1,260,000 1,260 1,400 A140
ot e SA XA 1,220,778 1,188,778 32,000
402 DIZHXHE01H 37,250 5,250 32,000
01 CIZFXH= A B2 (XERITHE) 37,250 5,250 32,000
Ozsg s2 2T E NA(BEXS 50%)
800,000 *B0IH*50% 32,000 0 32,000




2N =gt

M A0A2 2l (sHlYN M/ =Y - &)

P ArsHB WS ) (St M 2l)
2A - HH - H(SH) - MRAIY - BES Of] &K J &3 o Hws2
(G) Al MAS EX 2 A 2t |d] 33,120 26,49 6,624

= 8,280 6,624 1,656
Al 24,840 19,872 4,968
307 QI2H0| M 33,120 26,49 6,624
& 8,280 6,624 1,656
Al 24,840 19,872 4,968
02 CIZHEAAIRIE X 33,120 26,496 6,624
Ontal AL SEXIAAY 22/l X2
3 20,700,000&*20H A*80% 33,120 26,496 6,624
& 8,280 6,624 1,656
Al 24,840 19,872 4,968
JIEt WAlF ZHH 25} 286,250 266,250 20,000
JIEF DHAIR MAH HID At 286,250 266,250 20,000
402 QI2EXHE01 A 142,000 122,000 20,000
01 QI EAMLE X (XEAIHE) 142,000 122,000 20,000
OAFRIDIAZM BI =8t XIAALE(EEE 50%)
80, 000& *500CH*50% 20,000 0 20,000
N2 MDD ZY(sEMNEHAH s - &) 3,446,011 3,350,846 95, 165
= 75,000 75,000 0
| 87,641 87,641 0
= 463,406 463,406 0
Al 2,819,9%4 2,724,799 95, 165
S|0la ZW 25 955,403 957,238 21,835
QIAMAL J|BtErE 852,420 853,800 21,380
201 LE23H| 12,420 13,800 21,380
01 AtR22lt] 12,420 13,800 21,380
OZBZ0IS EMIIIBE F(0AHEZ) 6,660 7,400 AT40
—EsE=N AA 2 250,000 2,250 2,500 2250
—S48= A 4,410,000 4,410 4,900 2490
OBZT SIIBE SZAAHI(0&EZ)
4,878 5,420 AB42
—SNSFTH A 23X 1,791,000 1,791 1,990 A199
—S4382 dAt 23X 3,087,000 3,087 3,430 N33
OSZE SAIISE SZEZAL 22| =]
(Ol arE2) AR 882,000 882 980 198
SI|0laEAE 2 65,983 66,438 A455
201 Br23H| 2,655 2,950 A295
01 AtR2t2lt| 2,655 2,950 A295
OEAIIBHE BZ05 R2E BMH2Y
(Ollar=2) 23 1,080,0002 1,080 1,200 AT120
OCIMAERE HilRA 2 40 M (oA
23 1,575,000 1,575 1,750 A175
301 LESBHZ 6,440 6,600 A160
11 HALRHIXIRA S 1,440 1,600 A160




A =G
. SHHS MDD TH(sENEHHsY - &)
el Solely JUH Ast (Crol: X 21)
2B O9(3) - MRAY - BES Ofl o I3 o GImE==T
O AT 3o E & WSEAX SAHI(0AEZ)
238 1,440,000 1,440 1,600 A160
EtaE Mt 2,490,608 2,393,608 97,000
= 75,000 75,000 0
J| 87,641 87,641 0
(o= 463,406 463,406 0
Al 1,864,561 1,767,561 97,000
NESeas |4 209,000 147,000 62,000
307 GI2H0I& 197,000 147,000 50,000
02 QIRHEAAMEE R 197,000 147,000 50,000
OAEXSHIU X (KRINsSXM, X=U S)
(BXE 50%) 50,000 0 50,000
— =)= 1,000, 0002 *60ha*50% 30,000 0 30,000
—0F K== 2,000, 000! *20ha*50% 20,000 0 20,000
402 2IZ2ERHE0I1A 12,000 0 12,000
01 CIZFRHE A B2 (KERITHE) 12,000 0 12,000
OOt THEH&ESEE SIIH XI(BXE 50%)
6,000,000 *4TH+50% 12,000 0 12,000
M sEarey =4 574,280 539,280 35,000
307 eI2+o| & 574,280 539,280 35,000
02 QIRHBAIAHE R 574,280 539,280 35,000
O=x=2XSE 0|ADIE S sXHH X (EXE 50%)
7,000,000 & *10ha*50% 35,000 0 35,000
HAY2HAY|(ESB =) (DIEHIIED 84,848 94,142 N9,294
Jl2&Z| 84,848 94,142 29,294
JlE23l 84,848 94,142 29,294
201 LE23H| 23,384 25,982 A2,598
01 At22teld| 23,384 25,982 A2,598
OS201AHI (ol AR )
28 8,154,000 8,154 10,752 A2,598
202 Oidl 57,024 63,360 26,336
01 =ZLHOdHI 57,024 63,360 26,336
Oz = AREX Gbl(ollaE2) 57,024 63,360 26,336
—2HHOAH| X 41,080,000 41,080 46,080 25,000
— 22| 04H| AN 15,944,000 15,944 17,280 1,336
203 HRF&IY| 3,240 3,600 A360
04 FN2ILSFELI 3,240 3,600 A360
ORNSILRFTH|(ZE =) (0l =)
338 3,240,000 3,240 3,600 A360
Hees(Zed=gn) (sildadt/ =Y - &) 199,908 0 199,908
HEXE 199,908 0 199,908
BEXE 199,908 0 199,908
802 Btat=DIEt 199,908 0 199,908
01 =NExZeEa 47,866 0 47,866




AN EHFSHY
MM HRES (LS (SHSA/ SN - &)
S (Ctol: ®2))
M- 3 - H2(3H) - MM - BES 0 ke Il & oA Hns2
020234 = 45,580 45,580
— SIS RIHKIR ALY
1,205, 40024 x 14! 1,206 1,206
— SIS RIHKIR AL (O X}
5,890 14! 6 6
— S ASAXF X EH B0 *1 Al 1 1
—DEZAILSUSAL
8,100,000 14l 8,100 8,100
—SEXNS(QlaH) MAA L SNSRI
34,648,000 *1 Al 34,648 34,648
—SE2XS(QIAH MAA| S HSHRIK (O] XF)
1,618,020 14! 1,619 1,619
Q2022 & 2,286 2,286
—UMBRISHSAS IR AIHALS
9,530% 14! 10 10
—UAR RIS A= ASTIRAIH AL (Ol X}
64, 1702414 65 65
— =D EXAILEHHSIAIZ (OIXE)
60,3202 %1 Al 61 61
—FTAAIZ &I 212 212 H X2
2,000,000 %14l 2,000 2,000
—FTAAIS HI 2l =222 B X1 (OIXF)
149,900 %1 Al 180 150
02 Al - THIBXZ2EE= 137,625 137,625
02023 = 137,574 137,574
— SIS R HKIR AL
542,200 * 1Al 543 543
— SIS RIHKIR AL (O X}
2,650 14! 3 3
— ISP SAES QASZ=ERH| XIRA
4,585,820 3 * 14 4,586 4,586
—REHSAS QIEFRIH| XIRAFA(0IX})
9,440 %1 Al 10 10
—FEP =Y ZSEXIAIY
5,549,480 x 14! 5,550 5,550
—FEH = ZE XA (0IX)
8,070Rx1 4! 9 9
—4~58 =A2 UG 2R
15,550, 50024 % 14! 15,551 15,551
—4~68 0|42 SX2 NdisIt SEXY
20,2602 %1 Al 21 21
—62 SX2 QG 22X
450,000 14l 450 450
—108 =2 el 272X
6,150, 00014l 6,150 6,150
—H SR 43X KA
2,220,000 14l 2,220 2,220




AN EHFSHY
MM HRES (LS (SHSA/ SN - &)
A RS N (Ctol:®2l)
2AM -3 . S2(3H) - MRAEY - BES 0 roH J| & o Hns2
—t SO &X XA (0IXH
3,000 %14 4 0 4
—H{ THHH A42351EH| XIRAFS
249,000 * 14l 249 0 249
—Hi THHH A42434EH| XIRAFI(OIR})
1,810 14! 2 0 2
—HEN THHHEHX] &AL
79,2402 %1 Al 80 0 80
—HEN THHHSHR] ZA AR (OIXH)
10,3704 %14 11 0 11
— SRS 85,3902 14! 86 0 86
—EARISA ALY (O] R} 1,38020%14! 2 0 2
—H THHH=OF SEXRA
5,386,610 14l 5,387 0 5,387
—H THHisOF SEXIRAIZ (01X
3,5702% 14 4 0 4
— M DEZEA| LS SIALY
3,645,000 14l 3,645 0 3,645
—EIEA AL ®EHH K
428,850 14l 429 0 429
—tal ZEZMDEH XN (HDUYEEFD))
405,000 * 14l 405 0 405
—FTACHS CHAIDH HES XN
4,275,000 %14 4,275 0 4,275
—0OlLHEES 2L BA AMY
64,200,000 %14l 64,200 0 64,200
—XZAAD A2 04X (0IXH
10,5202%1 Al 11 0 11
—AMAL SSXRIAIY 22l X
2,424,000 14l 2,424 0 2,424
—AMAL SEX|RIAIY 22/H] XIKL(0IXH)
2002414l 1 0 1
—Qlab - AHOEALY R AT
3,360,480 * 14! 3,361 0 3,361
—Qlab - AHOEALRY RAT|RI(0|XH)
83,5702%1 Al 84 0 84
—SEZXS(QIa)MAAI LSS
15,591,600 14! 15,592 0 15,592
—S2XS(QIAH) MAAILSHSHOIXE)
728, 110R* 14l 729 0 729
—DIEIA, 242 SAXH
1,500,000 1Al 1,500 0 1,500
Q2022 & 51 0 51
—UMBRSHSAS IR AIHALS
2,860 14! 3 0 3
—UAR RS A= AT AIH AL (Ol R}
19,2304 % 14! 20 0 20
—UDNEEA LS SIAI (OIXE)
27,1402 %1 Al 28 0 28
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